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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circies. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

ntherwise the student will pe responsible for the sitnation. Use of ink remover or white correcting fluid is not allowed
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Answer briefly any Four parts from the followings.
Write any two disadvantages of flowchart,
Define problem.
Which type of values tu be given in boundry test data?
Convert (10011 ), into Decimal system.
Write ASCI codes of any two numbers.
Define Binary system.

Avswer brietly any Four paris from the foliowings,
Draw tyuth table of “AND” operator.
Write 1dentity law.
Write the usc of truth table,
What is meant by Sender,

Wriite the use of File Transfer Protocol (FTE).

How many IP addressing standards are there? Write their names.

Answer briefly any Four parts from the followings.

Enerypt the word “HTML” with the method of ceaser cipher.

HTML is not case sengitive define in own words.
What is counterfeiting.
Which name of tag used in HTML for adding an image.
Define head section,
What is hyperlink.
Parte—.—-- SR 1 |
Note: Attempt any Two Questions.
3. Draw four different symbols of low chart and write
description,
6. Define Computer network. Also-discuss types of
connection in network.
7. Define Encryption,

Also describe the importance of

encryption for everyday life on the internet?
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Note:~ You have four choices for each otfective type question as A, B, C and D. The choice, which you think, is correct: fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting tluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
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Which symbol in the flow chart is used to either

start or end the flow chart?
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Systcun,
"z G s A S SIS 8w e i) Al9
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Answer briefly any Four parts from the followings.
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Define flow chart,

Define trace table.

Detine the memory.

Why we use “ASCIT codes?

Convert (1101 101); into decimal number system.
Answer briefly any Four parts from the followings.

Draw a truth table 6f NOT operator.

Write down the negative preposition “Today is holiday”.

Define truth table. :

Define communication channel.

What ts header in message.

Define packer.

Answer briefly any Four parts from the followings. 4x3=

What is meant by data privacy.

What is meant by trade secret.

Write HTML code to insert picture into web page.

Detine web server.

% 34 )2 . ¥

Why UL tag is used.

What is difference between background color and foreground color.

Partc e 11

Note: Attempt any Two Questions.
5. Define an algorithm. Also write three advantages and
three disadvantages of an algorithm.
6. Define Bus and Mesh Topology and also draw =R
diagram of both topologies.
7. Write a note on cyber crime (any Four) also Give an 4

example for each crime?
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